H £ 0l & AF & S

Al A

A SXNEH
Zu: o29E
S EEESIEICEEBIEEEED ) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 7,785,122 7,5%,268 189,854
= 806,014
== 275,420
Al 6,703,688
REH 7,785,122 7,5%,268 189,854
= 806,014
S 275,420
Al 6,703,688
EESIIZ(A2S0IISELIA) 7,765,122 7,575,268 189,854
= 806,014
== 275,420
Al 6,683,688
OSSN MXLHBAER(MASEAZTEEH) 1,081,434 1,079,166 2,268
= 806,014
S 275,420
201 er2 3| 43,916 52,692 AB,776
= 43,916
01 At 2|l 36,916 42,692 ADb,776
Ox2= 78 S 6,000
< 6,000
Oflzg 8228 s ¢ 28,316
=S 28,316
OXRuW=HI 2,000
= 2,000
Osofd 22d+¢ 600
= 600
2 S52g4l 7,000 10,000 A3,000
O2d2s80 RER= 7,000
= 7,000
202 04| 30,000 28,000 2,000
[ 30,000
01 =LHOHI 30,000 28,000 2,000
O2e2gHgs=a ol
3,000,000& *10H 30,000
s 30,000
301 EtE N = 1,006,518 997,474 9,044
= 805,214
& 201,304
01 Al EE A S (2 RNEXMA) 1,005,518 996,474 9,044
OdZ ezl 219,740
= 175,792
= 43,948
O8=s80A 785,778
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Hu: ozEm
S EEESIEICEEBIEEEED ) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

oZOHAEXDI| K= 369,000

= 287,200

== 71,800

o2l X 280,000

= 224,000

= 56,000

o2z K= 39,000

= 31,200

=S 7,800

o=IR 5= etegs N2 64,778

= 51,822

< 12,956

o AEMAZH| Xz 2,000

= 1,600

= 400

oIl S S ALY 41,000

= 32,800

== 8,200
14 DBt 2 a3 1,000 1,000 0

O2ggd0 FE3E7, dxds 1,000

= 800

= 200
501 A= 1,000 1,000 0

= 800

= 200
01 2ItEX=2 1,000 1,000 0

OtXle= 1,000

= 800

== 200
SR E 6,683,688 6,496,102 187,586
308 AMXIMSOIA 6,683,688 6,496,102 187,586
07 HXHH RS 6,683,688 6.49%,102 187,586

OflzsRgs 6,683,688
HIbI (I 2=WIIZEE3IA) 20,000 20,000 0
oligil 20,000 20,000 0
801 GBI 20,000 20,000 0
01 Zetolblbl 20,000 20,000 0

@G{]:] 20,000




